

Suites arithmétiques	Suites géométriques
$S = u_k + u_{k+1} + \dots + u_n$	$S = u_k + u_{k+1} + \dots + u_n$
$= \frac{(n-k+1) \cdot (u_k + u_n)}{2}$	$= v_k \cdot \frac{1 - q^{n-k+1}}{1 - q}$
<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Dernier terme de S </div> </div>	<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> </div>

Suites arithmétiques	Suites géométriques
$S = u_k + u_{k+1} + \dots + u_n$	$S = u_k + u_{k+1} + \dots + u_n$
$= \frac{(n-k+1) \cdot (u_k + u_n)}{2}$	$= v_k \cdot \frac{1 - q^{n-k+1}}{1 - q}$
<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Dernier terme de S </div> </div>	<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> </div>

Suites arithmétiques	Suites géométriques
$S = u_k + u_{k+1} + \dots + u_n$	$S = u_k + u_{k+1} + \dots + u_n$
$= \frac{(n-k+1) \cdot (u_k + u_n)}{2}$	$= v_k \cdot \frac{1 - q^{n-k+1}}{1 - q}$
<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Dernier terme de S </div> </div>	<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> </div>

Suites arithmétiques	Suites géométriques
$S = u_k + u_{k+1} + \dots + u_n$	$S = u_k + u_{k+1} + \dots + u_n$
$= \frac{(n-k+1) \cdot (u_k + u_n)}{2}$	$= v_k \cdot \frac{1 - q^{n-k+1}}{1 - q}$
<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Dernier terme de S </div> </div>	<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> </div>

Suites arithmétiques	Suites géométriques
$S = u_k + u_{k+1} + \dots + u_n$	$S = u_k + u_{k+1} + \dots + u_n$
$= \frac{(n-k+1) \cdot (u_k + u_n)}{2}$	$= v_k \cdot \frac{1 - q^{n-k+1}}{1 - q}$
<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Dernier terme de S </div> </div>	<div style="display: flex; justify-content: space-around;"> <div style="text-align: center;"> \swarrow Premier terme de S </div> <div style="text-align: center;"> \swarrow Nombre de termes de S </div> </div>